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In [1]: $matplotlib inline
from PIL import Image
import matplot!ib.pyplot as plt
import numpy as np
¥ B Y A
src_img = Image.open("C:/ProgramData/Pil low data/fuli.ipg”)
plt . imshow(src_img)
plt . show() o
¥ EEY X ERE
width, height = src_img.size 20
¥ BECEHICESENFA TP
hist = np.zeros(?06)
for v in range(height):
for » in range(width]: 80

¥ EZt/LDRGBEFTE

r, g, b =src_img.getpixel ((x,v)) 100
¥ RGBD-E 120
lv =int((r+g+h)/3)
hist[lv] += 1 re
¥ EX TS ALIEHE
plt.figure()
% = range(0, 756)
plt . bar(x, hist, 1.0) 600 |
plt.show()
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In [8]:

fgmatplotlib inline
from PIL import [mage
import matplotlib.pyplot as plt
import numpy as np
¥ B Y A
src_img = Image.open("C:/ProgramData/FPillow data/fuji.jpg”)
plt.imshow(src_img)
plt.show()
# BN XERE
width, height = src_img.size
¥ BECEIZESEAEA T F
hist = np.zeros(756)
for v in range(height):
for x in range(width):
E2 /L DRGBIE & =
g, b =src_img.getpixel((x,y))
RGBD-FEH
v =int{(r+g+h)/3)

Rist[lv] += 1
¥ EX RIS ALHE
plt . figurel)

x = range(0, 256)
plt.bar(x, hist, 1.0)
plt.show()
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[total = width * height
#EZDES 23

p = total x[0.03 |
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#EXRTSLADIEVOTIG ECENEA T F

for_ i _in range(?bh):

Ln = sum(hist[0- 113
ifn>p
threshold = i
break

print(threshold)
t BT XERE
width, height = srec_img.size
i EEEFCH T IDEDS A —FE %
dst_img = Image.new("RGE™, (width, height]))
¥ 2ECEARICFIEX
for v in rangelheight):
for x in range(width):
ﬁ;*%%fﬁé
g, b =src_img.getpixel ((x,v))
=int ((r+g+b)/3)
? .2{3?
it v < threshold:
dst_img.putpixel((x,v),
else:
dst_img.putpixel ((x,y),

(0,0,0))

¥ &
plt . figure()
plt.imshow(dst img)
plt.show()
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